
(2024-25)

Shri R. N. Sharma













(2024-25)

























Class-IX (2024x25)













S

s

and

















S



















four four
four or









4



78





CHAPTER-2





where a is abscissa and b is ordinate.





The end points of a line segment lies in I quadrant and III quadrant. The line
segment may pass through
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Four solutions

not a straight line

:

:

:

:

following



On which axis does the point (9,0) lie?

which

The graph of the equation x + 3=0 lies on which side of y axis?

The graph of the equation 2y-1=0 lie on which side of the x axis? 





The

k.



Given F=      C+32, where F is temperature in Fahrenheit and C is temperature  
in Celsius.

:

:

9
5( )



:

, they





Above x-axis

7

The

x = 2 and point is (2,0)

Similarly for y-axis put x = 0 =       y = -5 

Hence points are (2,0) and (0,-5)



3y - y = 21





Parallel to x-axis     =  abscissa is zero

3 units from origin is opposite direction of y-axis

=  ordinate in 3

putting n = 0, y = 3

is n + y = 4

=  n = 1

Hence point is (1,3)

Parallel to y-axis     =  ordinate is zero

2 units on left of origin =   abscissa is -2

putting  x = -2, y = 0

is  x + y = 4

=   y = 6

Hence point is (-2,6)

Putting   x = 2 and  y = 0

  =   a = 2

Now putting  x = 1 and a = 2

  =  b = 6  



so i.e.

=

Putting   x = 1 and  y = -1

  =   a = -3

any two correct solution  

Given equation is 4 x + 5 y = 28

  LHS = 4 x + 5 y

Putting  x = -2

  LHS = 42

     But  RHS = 28

Hence   LHS = RHS  



=

=

=

=







Put   y = 145 in 5x + 20 = y

   x = 25

Let number of girl be x and no. of boys be y  

 

 

 

so

2 x 22 x x
7

 7y = 44x

, graph passes through (0,0)

Where
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0ABE +    EBC = 180
0ABE     EBC  180+ =

2 2 2
02 +    3 = 90
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4
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0that each angle of an equilateral triangle is 60 .





QR = MN

respectively









2 1 B



Prove that in an isosceles triangle, the angles opposite to the equal sides are equal.   
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any two
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0360 .
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[Angle sum property of triangle]
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p
     3a Altitude of an equilateral triangle = 2

a - side
For right angle triangle

2 2 2(Base)  + (altitude)  = (Hypothenuse)



. The area of this triangle is:

side 12 cm. The area of this triangle is :
272 cm

2
36 cm

p
212  cm3

p
236  cm3

300 m

the



find

its increased by how 

much?



(take  105 = 10.25)√
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(d) A is false but R is true.

(d) A is false but R is true.

(a) Both A and R are correct and R is the correct explanation of the assertion. 

(a) Both A and R are correct and R is the correct explanation of the assertion.





. Plant A are x in number and number of plant B are 

same as number of plant C. The total number of plants is 100. Based on the 
above information answer the following questions-

A

Based on above information, answer the following questions:



0C.F
0

?





B

C

D

A

040 040

50
 m 50 m



BC = ________

write

(ii)  What is the shape of LNKM?



(iii)

(iv)







2



      To divide this field into two equal parts, she joined the 
mid-point of the longer side to its opposite vertex. She grew potato in one part 
and onions in another. 

following question :



t





1











on questions:

represents



Based on the graph, answer the following questions:



formed by
the transversal on the same
side



0210

10

8400 m

665.28



(-8, 4)
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0

, then



interval



The d

?



Factorize



to





?

OR 

In    ABC, which is the longest 
side?



OR

What is the length of BC?

10/14

-6

090



0AOD = 140

p (10) = 56, p (20) = 306, p (50) = 2256

2

(15-20) & (35-40)

OR


